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Ouestion Mo. 1w objective type question. [t consists of

Section (A), Section (B) and Section (C). Each section has
5 questions of | mark each. Visually impaired students follow

the instructions as given with the questions
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|1 a5=5)
(Section — A) Choose and write the comrect option

(iy =zrofifeafs o b

(1) e (@) &
() = (@) =i
The largest ecosystem 15

(a) Pond {b) Farm
{c) Sea (d) Garden

(i) =i = fereare smenfia 2
(30) FGT AT F 2w feu o SEs AT §
(M) it EEm e
(@) TuEe & Jnmfa & fFam e
(%) T A I A8
Darwin theory is based on
(a) The observation of his voyage
(b} From cell theory
{c) Mendal's law of inheritance
(d) None of these

(iif) e 37T A 5 R

{(#) ROH (# RCHO
{#) RCOOH (@) Rd

The general formula of alkanoic acid 1
{a) ROH (b) RCHO
{¢) RCOOH (d) Rd
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-1  SaeEs 5 S8 £ (]
What is biosphere?
WH-3  dRaE o R w e ) o e iy [1+1=2)

What is solar heating device? Give one example

W4 BOE 3 O 20§ wn = o et e pH RN 6 @ 121

T 8 W e e w A ot 99 © wfus wma = AT

Samaru added baking soda to raw milk and changed its
pH value from 6 to 8 Why will it take more time 0

make curd from this milk?

-5 i e rr A TR e T g 12]

()

What 1s methylated spirut?

U¥-6 SNFUiEEIFEE (2]

What are alvenli?

-7 4 F R s d s 13]

Convert 14°F into Celsius

uy-8  HnfEs svEda e e ) e us e 131

What is relative refractive index? Wnite its formula

VA9 AN A I W & A a0e! w5 fafeg [1+1+1
List the three ways in which magnetic field can be =3]
produced
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(iif) ST Tt A aven vy 2
The enzyme secreted from the stomach is

(iv) SRONEFmFESITTE

S1 unit of resistivity is

(v) Whede s

Packing gaskets are made of

TH-1 (@ - ) 3T aeEw sifee [1x5=5]|
(h) (=)
(i) NH,OH (a) FFE g
(i) T (b) Iver ot
(iii) TET FAT (¢) wigrE
(iv) @iy e (d) -ga'rFﬁ M
(v) Tt It (e) Tettwmr wa

(Section — C) Match the following

(A) (B)
(1) NH,OH (a) Noble gases
(n) Neon (b) Convex lens
(i) Wind energy (¢} Carmivorous

(iv) Astronomical telescope (d) Weak alkali

{v) Tertiary consumer (8) Renewable energy

e UL TTILE |
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(i) foelt TR = & vy 3 0.5 Fregerm 10 e v
e Bt & ﬁgﬁmﬁﬁlﬁﬂﬁﬂﬂ:ﬂﬁmm
afeToT T hifsr

(i)  Electrical Circuits are used in our homes. Explain
the pomnts for domestic circuit-
(a) Owerloading
(b) Altermating Current

(i) An electrical current of 0.5A flows in the filament
of electric bulb for 10 minutes. Find the magnitude
of electric charge flowing through the electric
circuit

A
OR

() Sfet & e g a1 e i)

() 10V Crvparear 3 21 fara it & ofia 2 Hem HE A
3 ey f Faar s faa s

e ;  gfesnfir Fremdt @ o water  forge whe &
Foypey T e A fere

(iy Define parallel combination of resistances and
draw an electric circuit for this.
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B 6 CLLUAC R Ll 1O W ————— [1+2=3)
w1 vl i)
(i) g & ot STt sesm farfa (3]
(i) ‘_W’hm is Corrosion? Describe two factors affecting
it
(i) Woie three industrial uses of nitrogen.
| we-18 () AR Fifie @ s amifes g g 131

(i) o e et vt st &2 sedh el fofedn @gEn (142-9)

iz ;. aftrti e fam & v v it S
Ul |

(1) Draw a labelled diagram of nerve cell

(i)  Where is pituitary gland found? Wnte its

functions (any two)

Note: Visually impaired stu lents will explain the paris
of the nervous system in place of the picture

HE=T
OR

() TS T O R mwifea o TR 131

e T T 1T
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(iv) Pt i & 9 & oo Hoeqar Te fearar:

(3 wifezm @) it

(@) "R (@) PSR

Which of the following element does not show

allotropy:

(a) Sodium (b) Oxygen

(¢) Sulphur (d) Phosphorus

(v) ree gt & aswar e § g 2

(H) R= () R=

~ | m

e e

@ F=

4

/) F=

- |

Relationship between focal length and radius of

curvalure is
i |

(a) R= (b) R=

2R 3|

F
2

(c) F== (d) F=
R

-1 (e - &) faw et i gfd fifso [1x5=
(Section - B) Fill in the blanks
(i) 3 3l %1 pH 9H # & wAT A

'he pH value of acid rain is less than

(it) s o gftada & HIRH-N2H & Hror wrer &)

Change in temperature oceurs due to exchange
of

K-241200-A
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ava-10  uE o e wge I o & engelt & e R (14140
#1 o wwreren o hrg A1 o fafiag =3)

Characteristics of all the orgamisms present in a class
group are sedlar, Wiite uny three reasons of this

similarity

weA-11 ot et e w5 gk @ avam fafen  (242-4q)

Wiite the chemical equation for producing PYC and its
two uses

HerEn

OR
fartar wof et e B ek @ o e

What s bleaching |-|-nn|r: CWInte 1S two uses

UA-12 SR o aftare W SETeer e HAEEY) (4]

What is adaptation and fossils? Explain by giving
examples

HEET

R

B & Ter Ao aR) viden &) magrem

£

HIF .:f.’r-.lp:j-'—. E R LU !.|1|i|||| R ||[| T ‘1{__"1";‘1

(ATETTE) i T8 Vet
Explain the process of Sex determination in humans

Mote. Visually impaired studenis should write the names
of the zypoles in place of the dingrum for sex
determination

K-241200- u . : —
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Wirite any four differences between Breathing and I
Respimation
sruET
OR

ﬁﬁﬁmaﬂtaﬁﬁﬁmﬁaﬂiwmﬁﬁm

Write four differences between Sexual Reproduction and
Asexual Reproduction.

W14 T o & vt v Y vt e s Fraif 12414
Tt 82 NH,NO, 3 Na,CO, T FaTen a3t H995Y =4

What is a Salt? How is the nature of a salt determined?
Take NH,NO, and Na,CO, as examples and explain

e
OR
i T Bt A T S, 7 0F 10 3 "o [1+1+1+
(i) =HETTETTIsHE =4

(i) FWEAETIIsTD
(i) FHWaET 137D
(ivi Tevftrafmasdss

Atomic number of three elements are 5. 7 and 10
respectivelv. State that-

(1) Which element belongs to group 187

(11)  Which element belongs to group 152

(1)  Which element belongs to group 137

(v} All these elements are from which period?

K-241200-A T —
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(ii) How much work will be done in carrying a charge )
of 2 Coulombs between two points of potential
difference of 10V
only formula

Note: Visually impaired students will wriie 0Ty
in place of circuit diagram of senes combination.

sy Rl we B TR T S WA A R TR R R 2404,

o¥H-16
e Y e & <t 3w fafan 5
What is refraction? How it is different from reflection?
Write two uses of the phenomenon of refraction
JeEn
L]
OR
et U 6l w0 ufefasst o ot aw w13 & fam
F 8 300 1 I Fer 3T &7 A adn F 21 3wE
ferfa
What is a Concave mirror? Which MITOr 1S appropriate
to obtain the image on the screen? Write two uses of
CONCAave mirror,
1T (i) OIS & ot st g ferfiam I

(i) Ferer vy o ey i”‘."diﬁxwﬁgih:rr:r T3 fafam  [142=)
(1) Wnite three industrial uses of hydrogen

” 2 5 @ 2 1)
() What is alloy? Write the names and uses of two
alloys .

Hear
OR

2412004
U oo
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